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Paper - I

Note : e This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.
¢ Candidate is expected to answer any Fifty (50) questions.

¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be

evaluated.

1.  CSS stands for
(A) Cascading Style Sheets
(B) Collecting Style Sheets
(C) Comparative Style Sheets
(D) Comprehensive Style Sheets

2.  MOOC stands for
(A) Media Online Open Course
(B) Massachusetts Open Online Course
(C) Massive Open Online Course
(D) Myrind Open Online Course

3.  Binary equivalent of decimal number 35 is
(A) 100011 (B) 110001
(C) 110101 (D) 101011

4. ¢gif, jpg, bmp, png are used as extensions for files which store
(A) audio data (B) image data
(C) video data (D) text data

5. Symbols A-F are used in which one of the following ?
(A) Binary number system
(B) Decimal number system
(C) Hexadecimal number system
(D) Octal number system

6.  Which one of the following is not a search engine ?
(A) Google (B) Chrome
(C) Yahoo (D) Bing

Y-00 2
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(A) Cascading Style Sheets

(B) Collecting Style Sheets

(C) Comparative Style Sheets
(D) Comprehensive Style Sheets

MOOC =1 qoT &Y &

(A) Media Online Open Course

(B) Massachusetts Open Online Course
(C) Massive Open Online Course

(D) Myrind Open Online Course

IS 37 35 T TFeMUR) Toded &
(A) 100011 (B) 110001
(C) 110101 (D) 101011
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(C) ¥® (D) st
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7. Interms of total CO, emissions from a country, identify the correct sequence :

(A) U.S.A. > China > India > Russia
(B) China > U.S.A. > India > Russia
(C) China > U.S.A. > Russia > India
(D) U.S.A. > China > Russia > India

8.  Match List — I and List — II and identify the correct code :

List -1 List - II
a. World Health Day i. 16" September
b. World Population Day  ii. 1% December
c.  World Ozone Day iii. 11" July
d. World AIDS Day iv. 7™ April
Codes :

a b c d
(A i i i v
B) iv il i il
©) 1 il v i

D) i v il i

9. Which of the anthropogenic activity accounts for more than %rd of global water
consumption ?
(A) Agriculture
(B) Hydropower generation
(C) Industry

(D) Domestic and Municipal usage

10. One of the anthropogenic sources of gaseous pollutants chlorofluorocarbons (CFCs) in air
is

(A) Cement industry
(B) Fertiliser industry
(C) Foam industry
(D) Pesticide industry

Y-00 4



7. Tl 39§ o1 CO, % ST & HeW H Tl A i Tedly
(A) JUET > I > 9Rd > &
(B) M >JUIAT > 9Rd > &
(C) ¥ >FuaT > wF > 9Rd
(D) JUET > dH > &TF > 9Rd

8. Tl G-I W GAferd Y 3T W& F B TBaH R :
e -1 = - 10
2. fRawreEfEm i 16 fgar
b, fova o= kw1 KEER
c. fT@mamAie® i 119w
d. Tavd vew ke iv. 7 eme

A 1 i il v
B) v ui i i
© i m ivoi

D) 1 v il i

9. iy % i < i <t et 4 e (3 4 s e w3 e
SUEHET T 92
(A) P
(B) ST 9 fosTetl Searg
(C) =&
(D) =Re] SR TRUICTR FRT STIHT

10. AE St et Siat § & i 91 TG U5 awd FARMART e (CFCs) a1 | & 2
(A) HWHe 3T (B) 3ok S
(C) Y & (D) I ST
Y-00 5 P.T.O.



11. The maximum number of fake institutions / universities as identified by the UGC in the
year 2014 are in the State / Union territory of

(A) Bihar (B) Uttar Pradesh
(C) Tamil Nadu (D) Delhi

12. Which of the following institutions are empowered to confer or grant degrees under the
UGC Act, 1956 ?

1. A university established by an Act of Parliament.

2. A university established by an Act of Legislature.

3. A university / institution established by a linguistic minority.
4.  Aninstitution which is a deemed to be university.

Select the correct answer from the codes given below :

(A) land?2 (B) 1,2and3

(C) 1,2and4 (D) 1,2,3and 4

13.  Which of the following are the tools of good governance ?
1. Social Audit
2. Separation of Powers
3. Citizen’s Charter
4.  Right to Information
Select the correct answer from the codes given below :
(A) 1,3and4 (B) 2,3and 4
(C) land4 (D) 1,2,3and 4

14. The cyclone ‘Hudhud’ hit the coast of which State ?
(A) Andhra Pradesh (B) Karnataka
(C) Kerala (D) Gujarat

15. Which of the following is not a renewable natural resource ?
(A) Clean air (B) Fresh water
(C) Fertile soil (D) Salt

Y-00 6



11. favafaame™ M ™M 51T a9 2014 § SMWHLRG STt Geenet/favafaeamersi ot siteway
T Freteted | 9 e oA TsueT | €0
(A) fr (B) T WRY
(C) dfHerTg (D) feoett

12. fefafEd 9§ @ ®F 9 G fovafaemerd SHeH ST Siafam, 1956 % o feilt 37 a1 uee
A % [T T & 2

1. HE% % SAutE §RT T fovataemer

2. faym-vee & situfram grT wnfua favafermer

3. TR STeTHEIhl FRT T fovataamerd/aeen

4, foeatoEerd TEE S Al e

T 15T el § el I A T4 T

(A) 132 (B) 1,233
(C) 1,234 (D) 1,2, 3 3X4

13. TreAfctEd & | i GEmE & e € 2

1. IS AETRIeT

2. vIfeAal s e

3. ARG 9

4. O H AER

9 15T el § el I A T4 T

(A) 1,334 (B) 2,334
(C) 134 (D) 1,2,3 34

14. ThaTd ‘GIES e TST & a0 W THTAT 2
(A) 3TY TR (B) wARCH
(C) e (D) TN

15. fr=fafEd o | i |1 &g Uhiaen i T& € 2
(A) T ag (B) T UE
(C) 3 gt (D)
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16. Right to Privacy as a Fundamental Right is implied in
(A) Right to Freedom
(B) Right to Life and Personal Liberty
(C) Right to Equality
(D) Right against Exploitation

17. Which of the following organizations deals with ‘capacity building program’ on

Educational Planning ?

(A) NCERT
(B) UGC

(C) NAAC
(D) NUEPA

18. Which of the following powers, the President has in relation to Lok Sabha ?

1.  Summoning
2. Adjournment — sine die
3. Prorogation
4. Dissolution

Select the correct answer from the codes given below :

(A) land4
(B) 1,2and3
(C) 1,3and4

D) 1,2,3and 4

19. The interval between two sessions of parliament must not exceed
(A) 3 months
(B) 6 months
(C) 4 months
(D) 100 days

Y-00 8



16. Hifelsh IR & €7 § FsTar o 1R ffefad § @ fead siafted ¢ 2
(A) AT 1 SATHHR
(B) SieM 3R AT a1 SR
(C) FHWAT & 3AferhR
(D) ¥NuUT % Ty SITHER

17. Tafafad o | B 91 T eIoreh AT | “STHar FHToT SR 3 qre T § 2
(A) TAHZIAR
(B) IS
(C) TATTH.
(D) TIITUT

18. I W1 & HaY H AeguferStt Bl FHEAfcfad | & S | 9t e & 2

1. o% gerr

2. FHEd HIeT o T TR HEAT

3. TEEEH

4. HTHET

T 15T el § el I A T T

(A) 13fT4

(B) 1,233

(C) 1,3 3R 4

(D) 1,2, 334

19. TS % 3 FAl o S BT SR (Tead o Shae 1eh @l g1 =ey 2
(A) 39® (B) 6T®
(C) 47w (D) 100 f&=
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21.

22,

23.

24.

25.

Y-00

Maximum participation of students during teaching is possible through
(A) Lecture method (B) Demonstration method

(C) Inductive method (D) Textbook method

Diagnostic evaluation ascertains

(A) Students performance at the beginning of instructions.
(B) Learning progress and failures during instructions.
(C) Degree of achievement of instructions at the end.

(D) Causes and remedies of persistent learning problems during instructions.

Instructional aids are used by the teacher to
(A) glorify the class (B) attract the students

(C) clarify the concepts (D) ensure discipline

Attitude of the teacher that affects teaching pertains to
(A) Affective domain (B) Cognitive domain

(C) Connative domain (D) Psychomotor domain

“Education is the manifestation of perfection already in man” was stated by
(A) M.K. Gandhi (B) R.N. Tagore

(C) Swami Vivekanand (D) Sri Aurobindo

Which of the following is not a prescribed level of teaching ?
(A) Memory (B) Understanding

(C) Reflective (D) Differentiation

10
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Toreqor & SO fornférat o6t ferenas TewTiieT fohaeh gRT G & 2

(A) =AE YHd (B) fewm ugfa
(C) SITHATHS UHd (D) UTRAYRTF THA
A=177eR P ttAffee e &

(A) 3TISTN & URY § forenterat s sre-Foamee

(B) 3R o SR AT i WA 37 fawheran

(C) =N o 37 | 3ueiey &t feaafa

(D) 3R % SR T i Tl TS o HROT AR ==

3TEATIE FRT SIS VNCHS T&Teh AT HT ST
(A) TR BT THET U A & [0 (B) Ta=nferat st STehiud s o foTw
(C) TehoTT3T &l Tedl & [T (D) STFRIEA & GHREAd & e

Toreter =t efirgh fSTaehT ST T9TeToT OX Tl Uga &, 1 ey &

(A) WTETcHS & ° (B) T &7 9

(C) WesTarcHs &9 9 (D) T T 9

“feTeT BT H Yol @ foRISTH quidr &t 3fifaia &7 % §RT T T & |
(A) weTeT Tt (B) e &Y

(C) @ faasmg (D) off 3Rfe=

TfetEd & 9 i |1 18707 1 qaiig w Tal & 2
(A) I (B) g
(C) wEfad (D) fordcteRtor
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27.

28.

29.

30.

31.

Y-00

The core elements of a dissertation are

(A) Introduction; Data Collection; Data Analysis; Conclusions and Recommendations
(B) Executive Summary; Literature review; Data gathered; Conclusions; Bibliography
(C) Research Plan; Research Data; Analysis; References

(D) Introduction; Literature Review; Research Methodology; Results; Discussion and
Conclusion

What is a Research Design ?

(A) A way of conducting research that is not grounded in theory.

(B) The choice between using qualitative or quantitative methods.

(C) The style in which you present your research findings e.g. a graph.

(D) A framework for every stage of the collection and analysis of data.

‘Sampling Cases’ means

(A) Sampling using a sampling frame

(B) Identifying people who are suitable for research
(C) Literally the researcher’s brief case

(D) Sampling of people, newspapers, television programmes etc.

The frequency distribution of a research data which is symmetrical in shape similar to a
normal distribution but center peak is much higher, is

(A) Skewed (B) Mesokurtic
(C) Leptokurtic (D) Platykurtic

When planning to do as social research, it is better to
(A) approach the topic with an open mind

(B) do a pilot study before getting stuck into it

(C) be familiar with literature on the topic

(D) forget about theory because this is a very practical

When academicians are called to deliver lecture or presentation to an audience on certain
topics or a set of topics of educational nature, it is called

(A) Training Program (B) Seminar
(C) Workshop (D) Symposium

12
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32. Media is known as
(A) First Estate (B) Second Estate
(C) Third Estate (D) Fourth Estate

33. The mode of communication that involves a single source transmitting information to a
large number of receivers simultaneously, is called

(A) Group Communication
(B) Mass Communication
(C) Intrapersonal Communication

(D) Interpersonal Communication

34. A smart classroom is a teaching space which has
(1)  Smart portion with a touch panel control system.
(11) PC/Laptop connection and DVD/VCR player.
(iii)) Document camera and specialized software
(iv) Projector and screen
Select the correct answer from the codes given below :
(A) (1) and (ii) only
(B) (ii) and (iv) only
(C) (i), (i1) and (iii) only
(D) (), (1), (iii) and (iv)

35. The term ‘Yellow Journalism’ refers to
(A) sensational news about terrorism and violence
(B) sensationalism and exaggeration to attract readers / viewers.
(C) sensational news about arts and culture

(D) sensational news prints in yellow paper.

36. In the classroom, the teacher sends the message either as words or images. The students

are really
(A) Encoders (B) Decoders
(C) Agitators (D) Propagators

Y-00 14
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(B) (ii) 31 (iv) &aet

(©) (i), (i) 3R (iii) o

(D) (), (i), (iii) 3R (iv)

“UIA-TehINar O o Goiel &

(A) 3TdwaTs 3R Q& fou § ga-es TR |

(B) TICHI/STIhT I SHITA H & [T FAGAIIRBAT S AT |
(C) ell 3R TSR & FE-IEST AR |

(D) et FHITST W) B TS HER |

ToTerer hen O U G wrest 1 T § Atar € | formedt o # €
(A) UTHEH (B) femied
(C) TuReed (D) WUTeE

15

P.T.O.



37.

38.

39.

40.

41.

42.

43.
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The next term in the series :

AB, ED, IH, NM,

is

(A) TS (B) ST
© TU (D) SU

If STREAMERS is coded as UVTGALDQR, then KNOWLEDGE will be coded as
(A) MQPYLCDFD (B) MPQYLDCFD
(C) PMYQLDFCD (D) YMQPLDDEFC

A is brother of B. B is the brother of C. C is the husband of D. E is the father of A. D is
related to E as

(A) Daughter (B) Daughter-in-law
(C) Sister-in-law (D) Sister

Two numbers are in the ratio 3 : 5. If 9 is subtracted from the numbers, the ratio becomes
12 : 23. The numbers are

(A) 30,50 (B) 36,60
(C) 33,55 (D) 42,70

The mean of the ages of father and his son is 27 years. After 18 years, father will be twice
as old as his son. Their present ages are

(A) 42,12 (B) 40, 14
(C) 30,24 (D) 36,18

Digital Empowerment means

(1)  Universal digit literacy

(i) Universal access to all digital resources.

(iii)) Collaborative digital platform for participative governance.
(iv) Probability of all entitlements for individuals through cloud.
Choose the correct answer from the codes given below :

(A) (1) and (i1) only (B) (ii) and (iii) only
(C) (), (i) and (iii) only (D) (), (1), (ii1) and (iv)

The next term in the series :

2,7, 28, 63, 126, _

is

(A) 215 (B) 245
(C) 276 (D) 296

16
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TG STl § 3T U% €

AB, ED, IH, NM,
A) TS (B) ST
(©) TU (D) SU

3 STREAMERS #1 %2 UVTGALDQR %, @ KNOWLEDGE &1 %< &1l
(A) MQPYLCDFD (B) MPQYLDCFD
(C) PMYQLDFCD (D) YMQPLDDFC

ABHUEE IB,CHHEE IC,DH UG e |E, A% fuar € | D &1 E § g9 g

(A) 2 (B) &Y
(C) Wt (D) =&

T EET 3 : 5 % I B & | 3R 9 B 37 TeeAnelt § § =y fgar Sy, o S 12 : 23 &,
(A) 30,50 (B) 36,60
(C) 33,55 (D) 42,70

foeT 37R) 3Tk g 1 7Y 1 HeAHH 27 99 € | 18 Wit a5 e 39 9 A g ¥ AT
D! IIHA g

(A) 42,12 (B) 40, 14
(C) 30,24 (D) 36,18
TesTieet TeIierRientor &l 3719 &

() e fefe qeR |

(i) Tt Tefgeet Hidi ae Qravifgs uga |

(i) FEITARIET & [T FeunTt fefsteet wiewy |
(iv) TFATSS & HTeaw W T AT ol Gifad 9 |

T 3T 7T Fe T Tel TR B TI7 DI

(A) (i) 3R (ii) Ferer (B) (i) R (iii) et
(©) (i), (i) 3R (iii) P D) (), (i), (iii) 3 (iv)
= H@e ¥ e US

2,7,28,63,126,

(A) 215 (B) 245

(C) 276 (D) 296
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Read the following passage carefully and answer questions 44 to 48 :

The literary distaste for politics, however, seems to be focused not so much on the largely
murky practice of politics in itself as a subject of literary representation but rather more on how
it is often depicted in literature, i.e., on the very politics of such representation. A political novel
often turns out to be not merely a novel about politics but a novel with a politics of its own, for
it seeks not merely to show us how things are but has fairly definite ideas about how things
should be, and precisely what one should think and do in order to make things move in that
desired direction. In short, it seeks to convert and enlist the reader to a particular cause or
ideology; it often is (in an only too familiar phrase) not literature but propaganda. This is said to
violate the very spirit of literature which is to broaden our understanding of the world and the
range of our sympathies rather than to narrow them down through partisan commitment. As
John Keats said, ‘We hate poetry that has a palpable design upon us’.

Another reason why politics does not seem amenable to the highest kind of literary
representation seems to arise from the fact that politics by its very nature is constituted of ideas
and ideologies. If political situations do not lend themselves to happy literary treatment, political
ideas present perhaps an even greater problem in this regard. Literature, it is argued, is about
human experiences rather than about intellectual abstractions; it deals in what is called the ‘felt
reality’ of human flesh and blood, and in sap and savour (rasa) rather than in arid and lifeless
ideas. In an extensive discussion of the matter in her book Ideas and the Novel, the American
novelist Mary McCarthy observed that ‘ideas are still today felt to be unsightly in the novel’
though that was not so in ‘former days’, i.e., in the 18™ and 19" centuries. Her formulation of
the precise nature of the incompatibility between ideas on the one hand and the novel on the
other betrays perhaps a divided conscience in the matter and a sense of dilemma shared by many
writers and readers : ‘An idea cannot have loose ends, but a novel, I almost think, needs them.
Nevertheless, there is enough in common for the novelists to feel... the attraction of ideas while
taking up arms against them — most often with weapons of mockery.’

44. The constructs of politics by its nature is

(A) Prevalent political situation (B) Ideas and Ideologies

(C) Political propaganda (D) Understanding of human nature
45. Literature deals with

(A) Human experiences in politics (B) Intellectual abstractions

(C) Dry and empty ideas (D) Felt reality of human life

46. The observation of the novelist, Mary McCarthy reveals
(A) unseen felt ideas of today in the novel
(B) dichotomy of conscience on political ideas and novels
(C) compatibility between idea and novel
(D) endless ideas and novels

47. According to the passage, a political novel often turns out to be a
(A) Literary distaste for politics (B) Literary representation of politics
(C) Novel with its own politics (D) Depiction of murky practice of politics

48. A political novel reveals
(A) Reality of the things (B) Writer’s perception
(C) Particular ideology of the readers (D) The spirit of literature
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44, AU W G TSI 1 e il ©

(A) wEfed TeTITaes et (B) fomR 3R fammurmd
(C) TSHITsh TaR (D) AT W Hi GHST
45. Wiea ¥ ffatad 9 9 9 o ==l ot St 8 2
(A) ToHIT & T SFE (B) difge 31 foem
(C) I=h 3R o famm (D) TFE Siad il Hegd i TE arediaehdl

46. SUTMHR B TRl i fewivr @ fetataa O 9 fHeh uar goan € 2
(A) STH H TS % IRE Hegy (U MU faar
(B) SHiTaeh foaml X SU=ITET WX 3TA9ear ol {gTerror
(C) ToamT 3R SU= & a9 3T
(D) 3Fd fomR 3R Su=rd

47. T TR % AR U TSI ST U FH=fefed o & o)1 o Sl ¢ 2
(A) TSI % forg Afeferes swefa (B) TSI I Wik Tfel

(C) 319 &l TSIt oAt SU=am (D) TSTHITT T ST GRYTET Sl =T
48. TS TSHIGS 3T ¥ FAfarad ° 9 fohdeht Iat =eran € 2

(A) TSI ol aRdTahT (B) TG HT Y

(C) Ui i faamerT foere (D) |fEed St qIET
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49.

50.

S1.

52.

53.

54.

Y-00

Warrior is related to sword, carpenter is related to saw, farmer is related to plough. In the
same way, the author is related to

(A) Book (B) Fame

(C) Reader (D) Pen

Given below is a diagram of three circles A, B and C over-lapping each other. The circle
A represents the class of honest people, the circle B represents the class of sincere people
and circle C represents the class of politicians. p, q, 1, s, U, X, Y represent different
regions. Select the code that represents the region indicating the class of honest politicians

who are not sincere.
A

&
B v C

Codes :
(A) X B) q
© p (D) s

“A man ought no more to value himself for being wiser than a woman if he owes his
advantage to a better education, than he ought to boast of his courage for beating a man
when his hands were tied.”

The above passage is an instance of
(A) Deductive argument (B) Hypothetical argument
(C) Analogical argument (D) Factual argument

By which of the following proposition, the proposition ‘wise men are hardly afraid of
death’ is contradicted ?

(A) Some wise men are afraid of death.
(B) All wise men are afraid of death.

(C) No wise men is afraid of death.

(D) Some wise men are not afraid of death.

When in a group of propositions, one proposition is claimed to follow from the others, that
group of propositions is called

(A) An argument (B) A valid argument
(C) An explanation (D) Aninvalid argument

Namita and Samita are brilliant and studious. Anita and Karabi are obedient and irregular.
Babita and Namita are irregular but brilliant. Samita and Kabita are regular and obedient.
Who among them is/are brilliant, obedient, regular and studious ?

(A) Samita alone (B) Namita and Samita
(C) Kabita alone (D) Anita alone
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52.

53.

54.
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gl T oY TR I €, 988 B Gy R T 8, [ha 1 Gy & § & | 6 o 9 Gk
ey &

(A) TEHH (B) =fad

(C) weHd (D) FEd
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ETE
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“TgX ToTeTT BT T SRR TRt STl T 270 B Tl & 31 SegAM AT 381 bR € o1 T
T &1 Y g3 ARt i dieehe fohdt STIRHT gRT 310 Ted & Ir@! TarAT 17

ST TS ekt 3T ¢ 2
(A) Fme T (B) Hedreh 0%
(C) WETIeTH Teh (D) TEATF TH

‘FrEHH Al T & Gog F AT &l & I (eterad 5 o ferweht foRremart & 2
(A) F9 TgAM Al Jog ¥ 9 e & |

(B) & FigHM AT Jog § TFHid e & |

(C) =T 9t Jfgar sfer gog | wasdier =&l grar |

(D) F9 TgAH Al g & 9T el & |

T YA % TUE W U YA T TEdArel | SFedIied el AT, af FATel I8 TYE FHcATa
(A) THTeAA (B) UH oY TeAer
(C) U T (D) TUH 3AY Toltet

rHaT AR GiHar 7 Qe 3R afgE § 1 Afar 3R e SRRy Y Afafad € | Selian
3T AfFar eratad § W Bumel § | AfEdr iR e fafEa dR ot § | e 9 BE
TYTel, SR, FrRfa i afeer 878 9

(A) HereT [iHar (B) ftar i wfar
(C) =haet SHieaT (D) ¥act 3t
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For a country CO, emissions (million metric tons) from various sectors are given in the

following table. Answer the questions (55 to 60) based on the data given :

CO, emissions (million metric tons)
Sector | Power | Industry | Commercial | Agriculture | Domestic
Year
2005 500 200 150 80 100
2006 600 300 200 90 110
2007 650 320 250 100 120
2008 700 400 300 150 150
2009 800 450 320 200 180
55. By what percentage (%), the total emissions of CO, have increased from 2005 to 2009 ?

56.

57.

58.

59.

60.

Y-00

(A) ~89.32% B) ~57.62%
(©) ~40.32% (D) ~113.12%

What is the average annual growth rate of CO, emissions in power sector ?

(A) ~12.57% B) ~16.87%
(©) ~30.81% (D) ~50.25%

What is the percentage contribution of power sector to total CO, emissions in the year
2008 ?

(A) ~30.82% (B) ~41.18%

(C) ~51.38% (D) ~60.25%

In which year, the contribution (%) of industry to total sectoral CO, emissions was
minimum ?

(A) 2005 (B) 2006

(C) 2007 (D) 2009

What is the percentage (%) growth of CO, emissions from power sector during 2005 to
2009 ?

(A) 60 (B) 50

(©) 40 (D) 80

Which sector has recorded maximum growth in CO, emissions during 2005 to 2009 ?

(A) Power (B) Industry
(C) Commercial (D) Agriculture
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Tt &3 & fohelt <31 % e SrgaieEs (CO,) 3o (fera wiedt o) Frafataa e
H ey U e | 5T T ST % U W U (55 9 60 ) 1 S ST |

CO,, 3w (Taferam wigdt 27)

- o= o= ST | Anfvias | FE W
2005 500 200 150 80 100
2006 600 300 200 90 110
2007 650 320 250 100 120
2008 700 400 300 150 150
2009 800 450 320 200 180

55. @9 2005 ¥ 2009 H CO, 3 FT Ieqsi ol Ufrereialt (fcreTer) e ael & 2

(A) ~ 89.32 ufeerd (B) ~57.62 ufaera
(C) ~40.32 ufqera (D) ~ 113.12 ufqera

56. Torp &5 | CO, Seqsi ! S &Mt Jieg T 8 2
(A) ~ 12.57 ufdea (B) ~ 16.87 ufdsra
(C) ~30.81 gfaqea (D) ~ 50.25 gfqea

57. @9 2008 § FT CO, ST H e[ &35 1 Wicrreran AT 71 € 2

(A) ~30.82 gfqa (B) ~41.18 ufava
(C) ~51.38 ufdera (D) ~ 60.25 gfqerd

58. 1 & WaHt CO,, IS H AN I ANEH (Wferere) o o H = o 2
(A) 2005 (B) 2006
(©) 2007 (D) 2009

59. &9 2005 ¥ 2009 % IR (e &5 F CO, ST ol T(RTaal gJfeg (i) 1 & 2

(A) 60 (B) 50
(©) 40 (D) 80

60. 3 2005 § 2009 % IR CO, ST | fFH &7 W SAGehad Jhg &1 B TE 8 2

(A) forga (B) &
(C) =i (D) F
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